1 2 3 4 5 6 7 8 9
A
k=4 .
T C
D
L1 T ~ T ~ L1 L
L2 —t—= —t— L2 E
s O | O O | O .
HL YA EEV/ |
2. L3 SHIE SHIE =
| | F
N 5T6——+0510 N
| | u
| |
24 | | 20 G
| | N
| |
BCR | | YMBCR H
| | n
| |
|
J
wsfefezfes] | [ [ [ [ [ [ [ [ [ [ ] ] ]] | [ [ [1e]eofer]22 n
U i w N R S T N
L1 L2 L3 11 L2 L3
S2 HiJE S1 HJE K
UsB
40 FE Wi ]
B i siai s2a ffnthc kD ﬁ%&;ﬁfz, o L
LT 1T1 it R
¥ ( { { ( ?md..‘f'\ fmdf I%‘
1l2] [ | [7]e]efro] [3]4] [s]s] J23]z4]25] J26]27]28] [11]12]13]14 u
H H
A P M
H H
SE JE -
'S X
m i i
K H H N
0
m| om| m| m
ROALAGRE pl| o] e |
—— glalale
| EN— i B I P
X s Xl X
=t NIRRT
INBENPABA L
T % [Bcr| [ Bcr |
T Q
= dibRBLE R
VEL: TG TR AR BN P, T A TR P P R A R P T NN . —
TYMECRBA TR A s
DSE331 it AU Ezek K|
4 EEEEECEE
1 2 3 4 5 6 [ 7 [ 8 [ 9




